Ah ... The 50s! The dark days are over, the world wants to live! The world economy restarts at high pace, in Western Europe and
the United States, economic growth reached an average 5% per year! TVs, automobiles, domestic appliances, living standards
rise rapidly. The world economy is dominated by a few large companies that represent this lifestyle based on mass consump-
tion. Among them, Amber, Black and Crimson companies are engaged in a war to industrial competitiveness, using their re-
sources and labor the best possible way, arguing the slightest market share. As an investor, you should bet on the company that
will make you earn more money. Use your information, negotiate and make the right choices to become the best investor ever!

Ready ? Dhen... Slock!
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SETUP

» Place the 3 «Company» boards at the centre
of the table.

@ Place $100 in gold bars on Crimson and
Black’ safe, and $110 on Amber’s. This is the capi-
tal of each company. Put the left gold bars aside
to make a reserve.

Place the «Market Share» arrows on each
company’s scale:

* 35 % for Black and Crimson

* 30 % for Amber.

This indicate the market share each company at
the beginning of the game.

9 Place randomly a «Ressource» token on the 3
space of each space of the «Company» boards.
Put the tokens left aside to make a reserve.

3 Place the «Game turn / Ressources price» and
«Events» boards nearby.

Place the 3 « Ressources price » tokens on the
‘$10’ space on the price’s scale of the board.

0 Place the «Game turn» token on Ressources
price 1953.

Shuffle the «Percentage» cards, form a deck
facedown and place it on the indicated space.

Shuftle the «Events» cards, and form a deck,
facedown and place it on the indicated space.

Make 4 pairs of cards facedown with a
«Percentage» and an «Event» card on each indi-
cate spaces.

@D Shuftle the «Boss» cards and place randomly
one face up on each «Company» board.

Make a deck facedown with the «Boss» cards
left and reveal the 3 first cards. They
will present the available bosses at the
beginning of the game.




@ Shuffle the 30 «Share» cards together and
deal them, one at a time, to each player in the
clockwise direction.

Special case :

o In a 4-player game, you must remove 2 share
Crimson cards before dealing the shares.

o During the setup, the shares of each companies
are equally distributed to each player, 5 for each

@ Each player takes a price indicator composed
of 2 wheels. The player will be able to give prices
between 0 and 38, and receive $100. Put the re-
mainings Banknotes aside to make the Bank




BORL OF THE GAME

In Goodwill you will assume the role of an investor.
Throughout the game, you will have the opportunity
to invest on 3 different companies which share the
same market. The main goal for each company is to
choose low cost energies, and upgrade their process to
consume the less possible of these energies.

Each player will have access to news about the future,
and they will help them in their investing choices.
They will get information about the prices of energe-
tic resources, on the discoveries done by their research
centers, on the acquisition of market shares or any
other surprises about their boss.

After 5 turns, the winner will be the player who has
done the best choices for their investment.

T0UR DE JEU

A turn in the game represents a year.
Each turn is composed of 4 phases which must be
applied in the following order :

1 - Drawing and placing the Events

2 - Transactions and replacement of the boss
3 - Revealing «Events»

4 - End of the year

| - DRAWING AND PLACING THE EVENTS

One of the player draws 4 Events/Percentage pairs
and place them on the main board. An Events/
Percentage pair will be called an information.
These pairs represent the informations available
to the player for this year. 3 of these informations
will be transformed into events at the end of the
turn.

The players can now look at the informations,
one by one, they are allowed to see.

Example :

+ Player 2 (blue)can
see informations in-
dicate by the num-
ber 2 (blue)

o ~TRANSACTIONS AND REPLACEMENT
OF THE B033

The companies will always be reviewed in the
same order, e.g. Amber first, Black second and
Crimson third. For each of them, there will be 2
transactions and a possible boss replacement.

|- Transaction

There will be 2 transactions per company per turn.

Each player will do an assessment of a share of
the company value. In order to write it down se-
cretly, they will use their price indi-
cator composed of 2 wheels. Each
player will place this facedown.
When everybody is ready, each as-
sessment is revealed et said aloud.
The player who has set the highest price will buy
a share to the player who has set the lowest price.
It is compulsory.

But which price ? It will be an average price
between their 2 prices.

Example for Amber company :
Player 1 gives $10.
Player 2 gives $12.
Player 3 gives $14.
Player 4 gives $16.



Player 1 must sell an Amber company share to
player 4 for $13.

Don't forget to do a second transaction (assess-
ment and resolution)

But how can you do the assessment ¢

At the end of the game, each share will cost one
tenth of the value in the safe of the company. It
means that at the beginning of the game, B'lack
and Crimson share are worth 100/10 so it is
$10 and Amber shares are worth 110/10 so it

is $11.
According to the information you have access

to, you can estimate if this company or the .
other one will lose or earn money. If you think
they will lose some money, choose 8 or 10 at
the beginning. If you think they will earn some
money you had better to choose 12 or 14. At
the end of the first turn everything will be
clearer.

II- Replacing the boss

All the players who have a share of the company
can promote a new boss, taken from the available
bosses.

This player recommends and organize a vote for
the company shareholders. Of course during the
debates, you can speak louder than the others in
order to get their votes.

Each share = 1 vote.

Each shareholder can vote either « yes » or « no »
for the suggested new boss.

If this « yes » gets 6 votes or more, the boss is re-
placed in this way :

« Remove the old boss from the board, and put it
at the bottom of the boss deck pool.

« Place the new boss card on the boss space of the
corresponding company, on the board.

o Draw the top boss card from the deck pool and
place it face up with the available bosses.

If « yes » doesn’t get 6 votes or more, the replace-
ment is not done.

3 - REVEALING «EVENTS»

One player will flip face up the central informa-
tion, that is to say the 4 percentage cards and the
4 event cards.

The lowest percentage card will be removed and
placed back in its deck. The same will be done for
the attached event card.

The 3 other events will be achieved in the descen-
ding order of the attached percentages.

Example :

If the 4 percentage cards are : 80 %, 50 %, 25 % and
10 %.

The event card Attached to the 10 % card will not
be played, and as a result the cards (both event and
percentage) will be placed back in their respective deck.
Firstly, the event attached to the 80 % card will be
played, then the event attached to the 50 % card, and
finally the event attached to the 25 % card.

On each event card, there are 2 events, the event
on the left is placed first and then the event on
the right.

There are 7 different types of events are detailed
on page 7.

4 - END OF THE YEAR

For each company, you must subtract the fol-
lowing :

|- Calculation of he result

Pour chaque entreprise, il faut faire la soustrac-
tion suivante :

Number of market share
- Amount of resource prices
- Boss’ salary

= Result

D



The number of market shares is a direct reading,
and it is between 0 and 100.

The price of the resources can be seen on the price
scale on the board.

The boss’ salary can be found on the boss card of
the company.

« If the result is < 0 ; the amount of the result is taken
from its capital and given to the bank. If the com-
pany cannot pay, it goes bankrupt. (See page 9).
Bankrupts are resolved after all the calculations of
the results.

o If the result is > 0 ; the amount of the result must
be given by the bank, in gold bars, to the company
capital from the bank.

« If the result = 0 ; nothing happens.

Example : Amber have 30%

W of market shares. Its res-
sources cost $25 (2 x $5 for

the petrol for $15 for the workers). Its Boss have a

$5 wage.

30 - 25 -5 = 0; nothing happens.
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Black have 35% dof market
shares. Its ressources cost
$35 (2 x $10 for the char-
koal and $15 for the wor-
kers). Its Boss have a $10
wage.

35-35-10 = -10 ; Black
should pay $10 from its ca-
pital.
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The Gold bars are both side so they can indicate
the capitals of the company.

II- Shuffiing the cards

The event cards are shuftle with the deck of event
cards in order to form a unique pile which is
placed on the central board.

Repeat the same process for the percentage cards.

- Advancing the year marker

This marker is moved forward of one space.

END OF TRE GRME

The game end when it is the end of the year 1957.

Score for each players-game

Amount of their equities portfolio : the value of
the share is the value of the company capital divi-
ded by 10 (rounded up)

+ amount of their cash (banknotes)

The richest player wins the game.

Example :

Player 1 has $20 in banknotes + 2 Amber shares +
1 Black share + 3 Crimson shares

Player 2 has $10 in banknotes + 2 Amber shares +
4 Black shares + 1 Crimson share

Amber capital = $80 > share value = $8

Black capital = $110 > share value = $11




Aippendice

Evenss in details

There are 7 types of events :
a) Price variations for the resources

The symbol of the concerned resource
for this event is written on the card, as
the price variation is: +5;-5;+10 or -10/
For each concerned resource, you must
move forward or backward the marker
on the price scale of the board, accor-
ding to the written variation.

Example : If this is
written on a card > Oil +10 ;
and the Oil marker is on the
10 space of the price scale ; you
must move forward the mar-
ker ot reach the 20 space.
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The maximum price is $25.
The minimum price is $0.

The resource price level has an important impact
on the results of the depending company at the
end of the year.

b) Funding

The symbol of the concerned resource for
this event is written on the card.

The companies having this/these re-
sources get $10 for each resource. This
event has an immediate impact on the
company capital.

Exemple : If a charkoal funding
happens, Black should receive $20
in Gold Bars from the bank.

¢) Tax

This event is the contrary of the
« Funding » event.

The symbol of the concerned re-
source for this event is written
on the card.

The companies having this/these re-
sources must pay $10 for each re- ff
source. This event has an immediate &4
impact on the company capital.

If a company cannot pay the tax (insuf-
ficient capital), it goes bankrupt > see

page 9.

The 3 following events depend from the
boss of the companies.

« Innovation symbol : a light bulb.
« Efficiency symbol : gears.
o Advertising symbol : a newspaper.

Each event is attached to a number from 1 to 3.
For each of these events the first step is to find to
which company they will be applied.

To do this, you must refer to the 3 boss cards
placed on the board (e.g. the 3 bosses running a
company).

For each sector, (Innovation, Efficiency and Ad-
vertising), the bosses have a mark from 0 to 3.
(0 meaning the boss doesn't have this ability, 3
meaning the boss excels in it).

The bosses who have the ability, and exactly the
same number as the one written on the event
card, will see their company benefits from the
event.

d) Innovation
Transform a resource into another re-
source.
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For each company concerned by the innovation
event, you must compare the energy policy of the
boss to the resources the company must pay.

For each boss card having at least one light bulb,
its energy policy is detailed as the following :

E Do)

For each line, the resource on the left of the arrow
is the resource the boss wants to give up, whereas
the resource on the right is the resource the boss
wants to use now.

The first line is the boss’ top priority, the second
is its second priority.

o If the company concerned by the innovation
event has a resource the boss wants to give up
then the resource is replaced by the resource the
boss wants to use now.

o if the Ist priority cannot be applied then the
2nd priority is activated.

o If the company concerned by the innovation
event only has resources the boss wants to use
now, nothing happens.

If a resource change is possible, it must be done.

e) Efficiency
Decreasing the number of used resources

For each company concerned by the ef-
ficiency event :

« If the company as a resource and a copy of this
resource, one of the two is deleted ; that is to say
one of the token is removed from the board. (if the
3 resources are identical, one of the 3 is removed).

o If the company has only one resource or just
different resources, nothing happens.

=

Each company must have at least one re-

source. (A company cannot have 0 resource).

o
EOE

f) Advertising

The company concerned by the adver-

Acquisition of market share.

tising event will take 5 % of the mar-
ket shares of the 2 other companies. It

means +10 % for this company and -5 %

for the others.

These evolutions are modeled by moving the ar-

row of the company color on the market share

scale from 0 % to 100 % on each company board.

This event causes changes for all the companies.

— ,
[2aimson"s=
O

L '!’M

e
|

The total of the market share of the 3 companies
is always equal to 100 %.

The market share for a company can vary from
0 % to 100 %.

g) Scandal

The name of the company targeted of a
scandal is written on the event scandal
card. g
Its boss must leave the company. Its card is |l
placed at the bottom of the boss deck pool. i

Moreover, it discredits the company et it "
loses 10 % on the market share. o
The company gives 5 % to the 2 other com-
panies. (10 % to the other if there only 2
companies left). If the company only has
5 %, it gives it to the company with the
highest market share. This event causes [\
changes for all the companies. '




Situation of @ company bankruptcy

If a company cannot pay (a tax or the annual re-
sult) then it goes bankrupt.

o The shares of this company are worth 0 et they
are taken back from the players.

» The boss card of this company is placed face-
down at the bottom of the boss deck pool.

+The market shares are reallocated fifty-fifty to
each remaining company.

As the scale is numbered in 5s, if there is a five
left it goes to the company which has the highest
market share.

Special situations during the transactions

Detailed rules to solve these cases :

« If a player no longer the share and he has chosen
the lowest price.

« If several players have chosen the highest price.
« If several players have chosen the lowest price.
« If a player hasn’t got enough money and he has
chosen the highest price.

The high marketer are the players who have
chosen the highest price.

The low marketer are the players who have chosen
the lowest price among the players who have the
concerned share.

The price is always the average price. (value of the
high marketer group + value of the low marketer
group)/2.

The high marketers who have less cash than the
calculated average price are excluded from the
transaction and as a result from the high marke-
ter group. (If there is none left in the high mar-
keter group, you must redo the resolution of this
transaction regardless of the excluded players).

The number of transactions is equal to the num-
ber of the smallest group among these 2 groups.
If a group is more numerous than the other, the
players from the smallest group choose the player
they are going to do the transaction with. In this
case, a player can only be chosen once.

The players who belong neither to the high mar-
keter group nor the low marketer group, are just
mere spectators.

Example 1 :

Player 1 has chosen a $10 price and they don’t have
the concerned share.

Player 2 has chosen a $12 price.

Player 3 has chosen a $10 price.

Player 4 has chosen a $16 price.

Player 5 has chosen a $16 price.

Player 3 chooses the player they will sell the $13
share to, between player 4 and 5.

Example 2 :

Player 1 has chosen a $10 price.

Player 2 has chosen a $10 price.

Player 3 has chosen a $16 price.

Player 4 has chosen a $16 price.

Player 5 has chosen a $18 price but they only have
$6.

Player3 buys a $13 share to player 1.

Player4 buys a $13 share to player 2.

Special case for advertising

Each company concerned by the advertising
event will get 5 % of market shares from the other
companies which have at least 5 % of market
shares.

This means :

If there is only one company concerned by the ad-
vertising event, it will get 10 % of market shares.
But where will it be taken ?

o If the 2 other companies have at least 5 % of
market shares, then each of these two companies
will lose 5 % of market shares.

o If one of the 2 other companies has 0 % of mar-
ket shares, the third one will lose 10 % of market
shares.

If 2 companies are concerned by the advertising
event, then each of these companies will get 5 %
of market shares and the third one loses 10 % of
market shares.
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o If this 3rd company has 0 % of market shares,
nothing happens.

o If this 3rd company has 5 % of market shares,
then it will give its market shares to the company
which has the biggest market shares.

If the 3 companies are concerned by the adverti-
sing event, nothing happens.

If there are only 2 companies left :

o If 1 company is concerned, then this company
takes 10 % of market shares to the other company.
o If both companies are concerned, nothing hap-
pens.

4 Player-games

In a 4-player game, you must remove 2 share
Crimson cards before dealing the shares. The ma-
jority +1 will be reached for the vote of the boss if
5 votes are given and not 6 as usual. Nothing else
changes.

Credifs
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Variants

Longueur de Ia partie

According to the time you have, you can choose
the number of year you want to play at the begin-
ning of the game. Place the year marker on 1954
for a short game (4 turns) or on 1951 for a longer
game (7 turns).

Rdvanced player mode — Dividends

Definition of a dividend : part of the profit given
for each share of a company.

It is done during the calculation of the results at
the end of the year.

2 conditions must be met in order to have divi-
dends given for a company :

- The result of the year must be >5.

- The boss of the company must have the ability
« Gives dividends ». @ illustration

The result is distributed to the players regarding
the number of shares of the company they have.
There are 10 shares for each companies (even for
Crimson in a 4-player game), so when having a
share you win a tenth of the result of the com-
pany.

Only the tens are distributed, the
rest (<10) is given to the capital.

Example : if Bobby, who gives di-
vidends, is the Amber boss, and
Amber result is +$25 at the end of
the year, each shareholder will get
$2 for a share of the company. It
means that $20 are distributed for
the shareholders. The remaining $5
are given to Amber capital.

Variants for expert plauers- Cash only

At the end of the game, only the cash the players
have is counted during the scoring.
Dividends are more than important !




